T racing-cars.com

m & N—v% TEff (BiR) N—2a—F CAXH
K170 [Cougar KC 1/10 2WD EBE#/\¥—h—Fvh ¥59,000f 5051294081300
U1548 |7v+— M3 ¥380| 5051294012342
U1551 [EZ)vy7 2X8(8) ¥380| 5051294012373
U1552 [R¥Uv7 (10) ¥380| 5051294012380
U1633 |RE=IVE/ ¥380| 5051294012571
U1960 [OU5 ¥380| 5051294013233
U2128 |[A/1E€2¥ M3 M4 M5 (15) ¥380| 5051294013608
U2231 |[Y—FK+k—2 (3) ¥950| 5051294014049
U2698 |EHE—=IkAF7)9 5x10x4 (2) ¥750| 5051294017576
U2699 |[HK—=IAN7),% 10x15x4 (2) ¥750| 5051294017583
U2761 [¥7>4L 10X12(8) ¥580] 5051294018153
U3021 [H5EZX M3X6(10) ¥380| 5051294020149
U3022 [H5EAX M3X%X8(10) ¥380| 5051294020156
U3023 [H5EAX M3X10(10) ¥380| 5051294020163
U3075 [HE=IA7),% 4x8x3mm (2) ¥750| 5051294020668
U3131 |[ZIVIAN—Y—ty’M3I X7 0.5°1:2mm (18) ¥1,100| 5051294021214
U3136 |FE—=IA71),%5 5x8x2.5 (2) ¥750| 5051294021269
U3351 [83T R/v\—F+¥ ¥1,200| 5051294029043
U3364 |ARUvIN—Ivyk(2) ¥1,000] 5051294029173
U3572 [1ExY M3X14(4) ¥380| 5051294039745
U3667 [Z1——T7vdatyb(2) ¥750| 5051294041717
U3668 |#I\—+7b 25474 (2) ¥1,960| 5051294041724
U3669 [#/1s—+7h B9 (2) ¥1,060] 5051294041731
U3690 [ZAv kIS iv— ¥1,000] 5051294041946
U3691 |[H—FKAR—H—(2) ¥380| 5051294041953
U3706 |AYRIVRE=IV+J vk (2) ¥840| 5051294042103
U3708 [21v&9)v72.4mm (4) ¥600| 5051294042127
U3709 [RF7V97—L29vk(2) ¥1,200] 5051294042134
U3710 |t2—-bZv28YK ¥550| 5051294042141
U3715 |/srAvbE25mm (2) ¥1,200| 5051294042196
U3718 |7zarba7¥A7—LE>38mm (2) ¥850| 5051294042226
U3719 [D¥a7HRA7—LE45mm (2) ¥1,100| 5051294042233
U3729 [HAXRIavinAtAYMAN—Y—(4) ¥600| 5051294042332
U3758 [ZAUVMNATFILTINT AR 5—K 5° (2) ¥1,300] 5051294042608
U3770 [#>iv—EZRb & 1.5mm 3F—Jb (2) ¥840| 5051294042721
U3850 |12 by ¥1,500] 5051294043520
U3871 |EHE—=IA7)5 5x9x3 (2) ¥750| 5051294043735
U3937 [ravseobh7—(4) ¥750| 5051294044398
U3938 |FrO7v+—2mm(10) ¥380| 5051294069698
U4031 [ZavbERTF1RAN2IVM ¥600| 5051294070458
U4036 [U¥/\7 (2) ¥1,580] 5051294070502
U4055 |V¥a77—L4 (2) ¥1,500] 5051294070694
U4094 |Zasbsivonyk ¥1,400| 5051294073404
U4110 [#780—-kK>avy209)/% (8) ¥380| 5051294073565
U4124 |4 5X7%0.4(6) ¥380| 5051294073701
U4176 [F7¥vtvk ¥1,880| 5051294074227
U4178 [¥¥5F7Hv7 ¥1,100] 5051294074241
U4195 [KS17vZhEYJA) ¥4,700| 5051294074418
U4210 |[A4ERZIYM3x3mm (10) ¥380| 5051294074562
U4224 |&2—ivy2)avyk 60mm ¥930| 5051294074708
U4273 [ZOF=II R 73—k (4) ¥750| 5051294078423
U4274 |70FK—=IWVI/R a—b(4) ¥750| 5051294078430
U4275 [Zaf—-IIF Or7(4) ¥750] 5051294078447
U4299 |&—2/vy2)bOYKR 52mm ¥930| 5051294078683




m N=v%8 =i (F5) IN——FK EXE
U4314 |7IVE7y+—(16) ¥850| 5051294078836
U4365 [V¥Hr1—NT75v%(2) ¥950| 5051294079345
U4367 [ZAVbER1=MNT5v%7 (2) ¥950| 5051294079369
U4371 [+ ART1TFINT 5979 ¥1,120| 5051294041700
U4380 |[7ZAYBMIVT (2) ¥1,300] 5051294079499
U4381 [21vo29)v7(4) ¥380| 5051294079505
U4382 |7AM792AN (2) ¥1,120| 5051294079512
U4385 [F¥¥FZ7VENREYH ¥1,200| 5051294079543
U4388 [U¥ha1—IbNT7 ¥1,500| 5051294079574
U4389 [ZAVbKR1—=IVINT ¥1,500] 5051294079581
U4451 |avo2h5—0)% (4) ¥380| 5051294085841
U4462 [KhL7L—b ¥1,780| 5051294085957
U4486 |JXrska—IVAR7V 9 AN—H— ¥380| 5051294086190
U4488 [K517E>12mm ¥380| 5051294086213
U4490 |ZIN=)0 88— S547 L ¥2,400| 5051294086237
U4491 |#onN=I) 48— Aavy ¥2,400| 5051294086244
U4650 |FrO7+ vk M3(10) ¥400| 5051294091583
U4660 |ZAVRHRL—I(ARVL 759%9)(2) ¥950| 5051294093433
U4669 |L1+7h ¥1,400| 5051294093525
U4672 |RVYIN=FZIZHhiIN—TL—h ¥1,200| 5051294093556
U4674 |RADYN=RTV 97 va ¥400| 5051294093570
U4677 |[7—1)-20T ¥2,000/ 5051294093600
U4683 |[HAAN<a70Y%R ¥1,000] 5051294093662
U4684 |[HAAN 3 70Ov7L ¥1,000] 5051294093679
U4688 [RF7IUJ114OvbaOry ¥800| 5051294093716
U4689 |RAF7U 11OV a—b ¥400| 5051294093723
U4700 [F-NIFoN705(4) ¥800| 5051294093839
U4701 [F21v—EZRb & 1.6mm 3F—Jb (2) ¥800| 5051294093846
U4702 [ravo=Ivivo9V2(2) ¥1,000] 5051294093853
U4704 |&F—=ITR)4 vk (8) ¥1,200] 5051294093877
U4705 [ZIVELF—R)yIN=TL—h ¥1,200| 5051294093884
U4707 [ra—bF—-IIU/R79 Yk (8) ¥1,200] 5051294093907
U4712 [FZ7H0V/5 ¥450| 5051294093952
U4719 |ZhInqsaybh7avy ¥2,000] 5051294094027
U4736 |HR—=IVA%2YK7vv—(8) ¥400| 5051294094195
U4737 [F=atbra—bk(4) ¥1,000] 5051294094201
U4738 |&FK=Ias by (4) ¥1,000] 5051294094218
U4757 |H1R¥+25T ¥2,000] 5051294094409
U4758 |HrK¥+ 35T ¥2,000] 5051294094416
U4765 [UEREKERMFVE ¥400| 5051294094485
V4771 [7-1)=27220T ¥1,650| 5051294094546
U4773 |77 TFHRNG— ¥600| 5051294094560
U4778 [UEKRAYT ¥600| 5051294094614
U4783 (V¥ 7IhEY (2) ¥1,450| 5051294094669
U4835 |M3Fvh (8) ¥400| 5051294097776
U5129 [2129(OV)y—) liESNE ¥1,450] 5051294066987
U5134 [KCHET1EYb: (D1 R2RY/TH=) ¥3,600| 5051294067038
CR024 (M4 1—IFvhk (4) ¥470| 5051294001575
U7034 [7ZIV=+>— Cougar KC/D ¥5,800] 5051294115807
U7035 [H—FY1KREvR (2) Cougar KC/D ¥2,400] 5051294115814
U7036 |h—FKr70/b8815—AF— CougarKC/D ¥1,600] 5051294115821
U7037 |A—F V¥ %13—RX5F— CougarKC/D ¥1,900| 5051294115838
U7038 [H—F70 M) 222k CougarKC/D ¥1,000] 5051294115845
U7039 |H=—FkK )YV 9272k CougarKC ¥850| 5051294115852
U7040 |H—FkR)YHRT14e7/0 CougarKC ¥850| 5051294115869
U7041 | A=K7 LRIV+7M)57—F— CougarKC ¥680| 5051294115876
U7042 [H—FO2VKRASv7 (2) CougarKC/D ¥1,600| 5051294115883
U7043 [H—FkKa—bk)ERAMFY7 (2) CougarKC/D ¥1,300] 5051294115890
U7045 [UREAMA%%—K CougarKC/D ¥550| 5051294115913
U7046 [UEKRERba—bk CougarKC/D ¥550| 5051294115920




m N=v%8 =i (F5) IN——FK EXE
U7049 [FF1e2 /M E=IT1% CougarKC/D ¥850|/ 5051294115951
U7052 [ZIVIVXYRSUAZyaviNnyos a7 LH Cougar K( ¥2,400] 5051294115982
U7053 [ZIVIVXYRSUAZyarNnyo4 a7 RH Cougar K ¥2,400] 5051294115999
U7054 [ZIVIVXRSUARZyav N9 77vi18v— LH Cougé ¥2,400] 5051294116002
U7055 [ZIVIVXYRSUARZYav N9 77v15%— RH Cougd ¥2,400] 5051294116019
U7056 [ZIVIEL1¥vZh<2/bLH Cougar KC ¥2,400] 5051294116026
U7057 [ZIVIEL1¥v7h<2,bRH Cougar KC ¥2,400] 5051294116033
U7058 [7ZIVZE—%—7L—b Cougar KC ¥1,300] 5051294116040
U7059 (7RI +7Zb Cougar KC ¥850| 5051294116057
U7060 |ZLRIVAAN—Y— Cougar KC ¥400| 5051294116064
U7061 [VJ/s—X¥+ Cougar KC ¥850| 5051294116071
U7062 [J/s—REZXb Cougar KC ¥400] 5051294116088
U7063 |7AarbA—=Jb/x—K A Cougar KC ¥850| 5051294116095
U7064 |LA4v7bhAN—Y— Cougar KC ¥400| 5051294116101
U7065 [RUYIN—=RATV)9Y147L—b 2WD/4WD ¥400] 5051294116118
U7066 |F277h7vbE> (2) Cougar KC ¥400] 5051294116125
U7067 [¥¥TF7<92T71%9 Cougar KC ¥1,300] 5051294116132
U7068 [TF¥tbMJ)v% (2) Cougar KC ¥850| 5051294116149
U7069 [#—kA/3s—Cougar KC ¥850] 5051294116156
U7070 [YLKAH/3— Cougar KC ¥850] 5051294116163
U7074 [H—F by 7FvFE YK a4 ) CougarKC/D ¥2,500] 5051294116200
U7075 [V~ 113T x 4dmm(sF¥¥ax1) Cougar KC ¥1,500] 5051294116217
U7076 [~k 99T x dmm(sR¥,a,2) Cougar KC ¥1,500] 5051294116224
U7077 [V¥ANIb 71T x Amm(sR¥,a2,3) Cougar KC ¥1,500] 5051294116231
U7078 (¥~ 59T x dmm(sR¥,a24) Cougar KC ¥1,500] 5051294116248
U7079 (7O k792 F—=Fi4avrEY (2) Cougar KC/D ¥850] 5051294116255
U7080 [V¥HAANaAMFv7Cougar KC/D ¥1,600] 5051294116262
U7081 [7Aavbka77—.4 (2) Cougar KC/D ¥1,350] 5051294116279
U7082 [U¥7OvysAN—Y— Cougar KC ¥680( 5051294116286
U7083 (V¥ AR5y 7A~N—H— CougarKC/D ¥680| 5051294116293
u7084 [>avoby7)% (2) CougarKC/D ¥850] 5051294116309
U7085 [>av2bvy7 (2) CougarKC/D ¥680| 5051294116316
U7088 [F—=IAF7)95X10X4(2)

U7089 [F=A7)95X11X5(2)

U7090 [1ERY M4X20(4) ¥400| 5051294116361
U7094 [H—F by 7FvFtEYR(EIa1) CougarKC ¥2,500] 5051294116408
U7095 [H—F by 7FvFtEYR(EIa2) CougarKC ¥2,500] 5051294116415
U7096 [H—F by 7FvFtEyR(EIa,3) CougarKC ¥2,500] 5051294116422
U7102 [KaEA M3x4 (10) ¥400] 5051294116484
U7104 [KE2EA M3x8 (10) ¥400] 5051294116507
U7105 [FKaEA M3x10 (10) ¥400| 5051294116514
U7106 [FKE2EA M3x12 (10) ¥400| 5051294116521
U7107 [FKE2EA M3x16 (10) ¥400] 5051294116538
U7108 [FKaEA M3x20 (10) ¥400] 5051294116545
U7112 [F#+vy7EZX M3x8 (10) ¥400] 5051294116583
U7113 [F+Yy7EZX M3x10(10) ¥400] 5051294116590
U7118 [F+Yy7EZX M3x30(10) ¥400| 5051294116644
U7121 [YSEZX M25X12(10) ¥400] 5051294116675
U7122 [BHSEZAM3X12(10) ¥400| 5051294116682
U7129 [¥+F7t vk Cougar KC ¥4,600] 5051294116750
U7133 [21v99)v72.4X1.5(4) 2WD/4WD ¥400] 5051294116798
CR177 |9 T avo A7) 78y 3547 L (5) ¥4,700] 5051294048396
CR178 Y& 7 avys A7) &y O % (5) ¥4,700] 5051294048402




m B nN=v% Effi (FH) IN—2T—F THEXE
U1573 [#=2vwo2hvayRF422 53mm (2) ¥2,150]/ 5051294012441
U1574 [#—=2ivwo2ayRF422 60mm (2) ¥2,150] 5051294012458
U1954 [7ORSAMT) T ¥2,700]/ 5051294013219
U2566 [#—/vwo2hayEF22 45mm ¥2,150] 5051294016333
U3348 [80T R/v—F+ ¥1,200/ 5051294029012
U3350 [82T R/v—F+ ¥1,200]/ 5051294029036
U3499 [D¥o—-N/n—R70v% ¥900[ 5051294033088
U3605 [ZIVI)¥/I\71° ¥5,450] 5051294041373
U3670 [F1Iv—EARR 25— (2) ¥850] 5051294041748
U3673 [SavoR7V 58 ybh 7547 L (T) ¥6,300] 5051294041779
U3674 [SavHoAxR7)5wvk O %7 (6) ¥6,300] 5051294041786
U3712 [ZNI7O0UPRFTTIUTNTRE5—K0° (2) ¥1,300]/ 5051294042165
U3740 [F77v¥+—18mm ¥800| 5051294042448
U3750 [F727Ih7TYRA42R ¥1,400] 5051294042523
U3751 [FZ7IhFVhXRX ¥1,400] 5051294042530
U3782 [51¥75L N—K(4) ¥560| 5051294042844
U3790 [76T R/v—F+ ¥1,200]/ 5051294042929
U4054 [D¥O77—LET17L4L(2) ¥1,500]/ 5051294070687
U4226 [71T A/v—F+ ¥1,200] 5051294074722
U4228 [ZNI7O0UPRFTTITNTRE5—K5° (2) ¥4,500] 5051294074746
U4285 [#70—FKav401)570(8) ¥1,120] 5051294078546
U4366 [D¥FRL—I(F714k)(2) ¥950[ 5051294079352
U4550 |[7o kOo—=Ib—Ra=-NI\—=9527 (4) ¥750] 5051294086831
U4368 [ZAa bkR1L—I(F714R) (2) ¥950] 5051294079376
U4619 |73t 2—F5v70OVK ¥2,860] 5051294091286
U4620 [ZIVINTx+U7 E-HtVh ¥4,800] 5051294091293
U4660 [ZOURRA—N(RVL T59%7)(2) ¥950] 5051294093433
U4661 [ZAURRA—IV(RVL FI4K) (2) ¥950] 5051294093440
U4670 [RUvIs—HiIv— ¥1,400]/ 5051294093532
U4671 [SYRR)YIs—TL—h ¥1,200]/ 5051294093549
U4673 [RDYIS=RAT) T ¥400] 5051294093563
U4703 [ZNI7O0UPRFTFILITNTRE5—K0° ¥4,000/ 5051294093860
U4719 |[ZSnqayk7av% ¥2,000]/ 5051294094027
U4800 [D¥O—Jv/s—F—=l (2) ¥1,000] 5051294094836
U4860 [FrOa—VxHhL—IV1v7 (2) ¥1,300]/ 5051294098025
U4890 |[ZIWZSZLIN=RATVThV7 (2) ¥2,000]/ 5051294098322
U4996 [F—NF7t vk CougarKC ¥6,400/ 5051294099381
U4997 [F—-NF27—)—-277< CougarKC ¥1,900]/ 5051294099398
U4998 |7V I)¥/\7tvh 2WD/4WD ¥5,200/ 5051294099404
U4999 [Za k7 IAPER ¥2,050] 5051294099411
U5130 [21429(F74h) MREE ¥1,600] 5051294066994
U5131 [9129(F5v9) MREE ¥1,600] 5051294067007
U5132 [9129(h—F ) MEER ¥1,600] 5051294067014
CRO35 [MAFL—=IF YT — (4) ¥1,400/ 5051294001674
CR036 [MAFKA—=IFYis—=7 ) (4) ¥1,400/ 5051294001681
CR192 [ZNISHY—FKF—2 7Z2N ¥700] 5051294048549
CR193 [ZNISHY—FF—2 7 ¥700] 5051294048556
CR196 [MAFA—NFIrTZv% (4) ¥1,400]/ 5051294048587
U6759 [AvhAR&ZvH—AVUL:2WDEZAVE ¥1,460] 5051294045135
U6770 |AvhR&2vi—A—70:2WDAE7ZAVE ¥1,460] 5051294045241
U6558 [S=R/\1%:2WD/4WDEE)Y ¥1,550]/ 5051294023607
U6804 |S=F.2:2WD/4WD ¥AE)¥ ¥1,550/ 5051294100070
U6824 |S=4—h:2WDE7Ok ¥1,460] 5051294100988
U6826 |S=4—h:2WD/4WDHRE)¥ ¥1,550] 5051294101008
U6738 |1~F—2WDH ZAarvk ¥400] 5051294029630
U6734 [1F—2WD/4WDHH U+ ¥400[ 5051294024277
U7030 [57&F—=NT/C2.5mm (14)

U7031 |[7arra—=Nv/s—R"74%7k8mm (4) ¥580] 505129405777
U7047 (DY 714RBANR 2 av A5y 788 Cougar KC/D ¥2,350] 5051294115937




m N—Y% E N—a—F ZEXH
U7048 77X 922k CougarKC ¥1,600| 5051294115944
U7050 [==AYvwix—tvbk Cougar KC/D ¥3,000] 5051294115968
U7051 [My75v*i1s7OvbhE> Cougar KC/D ¥400| 5051294115975
U7072 |7axbkAa—Jv/s—tvk Cougar KC/D ¥2,200] 5051294116187
U7086 |4 I\—EZRb> 274—I)b1.6mm (2) ¥680| 5051294116323
U7087 |4 I—EZRb> 274—I)b1.7mm (2) ¥680| 5051294116330
U7091 |[ZAavbo19°e2bMybk Cougar KC/D ¥2,200| 5051294116378
U7092 [Zavbk219<2k Cougar KC/D ¥850| 5051294116385
U7093 [7Aavk2—1% Cougar KC/D ¥1,600] 5051294116392
U7097 [H—Fk>+>— Cougar KC/D ¥9,500| 5051294116439
U7098 [ZIVZH1KRFEYKR (2) Cougar KC/D ¥3,900| 5051294116446
U7100 U4 O—Jb/s—t vk Cougar KC ¥2,200| 5051294116460
U7110 |&HR=IF2JEIVMF Y Cougar KC ¥1,300| 5051294116569
U7131 [Zavbkavotybs (RZV 8L ) ¥6,200| 5051294116774
U7132 (V¥ avotyb (R7V58L) ¥6,200] 5051294116781
U7134 [7Ziz7avbk)s222k CougarKC/D ¥2,000] 5051294116804
U7135 [7ZAarba77—., Med Flex (2) Cougar KC/D ¥1,350| 5051294116811
U7137 |KC—KD arvi/\—arFvb ¥19,800| 5051294116835
G342 S |a—=yvAhA—AdTvY(2I1E—=) S ¥3,000] 5051294076399
G342 M|>a—=vA—AdTvY(2T1E—=) M ¥3,000] 5051294076405
G342 L |Ya—=yvAhA—OdTo+Y(21E=) L ¥3,000] 5051294076412
G342XL|>a—=vAhA—AdT+Y(RIE—=) XL ¥3,000] 5051294076429
G343 M[>a—=2vh—7—-KfFE—F—(RIE=) M ¥6,800| 5051294076474
G343 L [¥a—=2yh—7—kfFEb—F—(RTE-) L ¥6,800] 5051294076481
G343XL[¥a—=2yh—7—KfFEMN —F—(RIE—=) XL ¥6,800| 5051294076498
G353 [a—=eyh—HS5RAtEYb7y7HR—K 40X30X6 ¥5,500| 5051294082109
G354 [a—=vh—tybTyTHR—=KINvY5 ¥2,600] 5051294091071

=& EH2017.03
ABBOEHETEICKYFEEUREEREFTIENTENET HO. %

BARA+ FEBEERTSEM2098-4 TEL-0749—22—3747




